Gib reine Zehner dazu!

30+ 00 = 79
48 + 30 = 78
33 + 40 = 79
ol +30 = 73
29 + 0= 7
4%+ 30 = 87
1F+20= #f
3F+10= of
2F + 40 = 47
2+ 00 = 37




Nimm reine Zehner weg!

510 = 37
8710 = 47
9F 40 = 57
67 0= b7
9% 60 = 77
8560 = 5
6520 = 25
9510 = 45
7570 = b5
9530 = 85
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Gib reine Zehner dazu

oder nimm sie weg!

48 - 30 = 8
76 -40 = 18
38 - 30 = Jis
78 - 30 = 30
08 - 40 = 48
48 + 10 = 38
18 + 60 = ofé
36 + 30 = 70
28 + #0 = 30
18 + 30 = 70
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Gib reine Zehner dazu

oder nimm sie weg!

42 + 10 = Z
22 + 70 = 12
72 -80 = 27
32-30 = 32
52 -30 = 47
12- 0= 52
72 -0 = 602
32 + o0 = #2
82 - 20 = 82
2 +80 = 72
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